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The CS Kernel

The CSS factorisation formula:
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The CS Kernel is defined as
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The CS Kernel from ratios
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where ¥ is the Hankel transformation of the cross-section:
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The DY cross section: PBSet2 vs Dynamical z,,,,

Dynamical z.x with gg =1 GeV and gs = 0.5 GeV
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The CS kernel in CASCADE: PBSet2 vs Dynamical z,,,,

Dynamical z,,x with gg =1 GeV and gs = 0.5 GeV

1.50
—— /51 =12,16 GeV zdyn
1257 /57 =12,20 GeV zdyn
—— /51 =16,20 GeV zdyn
—— /51 =12,16 GeV AB
0.75 1 — V51 =12,20 GeV AB
—— /51 =16,20 GeV AB

0.50 //—-‘Egﬁ

0.25 //
0.00 -/

—0.25 A

1.00 A

D(b; mo)

b [GeV~1]



The CS kernel in CASCADE: Flat behaviour at large b

Is the intrinsic k7 distribution?
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The End



